Entering Algebra 2 AAC Review Packet - SHOW ALL WORK! No calculators.
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Part 1: Solving Equations Solve for the variable in each equation using any method. Show all work.
1. 3x+6=-24 2. 2(d-3)=-9
K=2-\o Ad=-a
3. 10 Bi+5=3p 1(10-2a)=12
4 €
5 a:-%
5. 21=7(y-7) 6. 0=x%+2x
= KK+
3:\0 0 K( 2) 50,_2}
7. 9x=25 8. x*-13x+12:=0
/ﬁ.”% g &x (x~12)(x~1) = ©
3 ‘ $1,10%
9. 3x2-6x-2=4+5x-7x 10. x* =5x + 24
o -\x- 6= 0 Ly xLi5x-24%0
(5x + 2)(%x-3 ) =0 E'z'f?; (x-8)xa3)=0 5-3,8%

Part 2: Simplifying and Evaluating Expressions Show all work.

1. Evaluate f(ab,c) =ab’+ #a - Jac 2. Evaluate f(x,y, z)=2.5¢+x 7’y —xz
fora=10,b=-6,c=-4. forx=2,y=8,andz=-3.
tgs 18
3. simplify: 5x’y* + 7x*y* —2x° y* 4. simplify: (4y — 6)°
M . u:jﬁ«tsgwc
5. simplify: (5x* —4y* )J(3x* +7) 6. Simplify: 8v3 +3v/27 /300
8{3+A3 - 1073
1S r 35422 28y H3
7. simplify: 106 - 28 B 8. Simplify: 22 - 33 502 4 +2B
v2-37¢ ,
1o wr(: o3 + 213 \7'2_{—3
9. Simplify: (3,(2_ 4y )2 10. simplify: (2x — 3y)3
G %
‘f{q—?«“liqll Hbuf B -%331 *g‘(%j y




Part 3: Exponents and Radicals  Simplify the following radical expressions. No decimals. Show work.
1. 44 2. 5424
A
T 24w 5 1F1c JoA©
3. 6v49 4. 228 +4/63
b-? 12 413 + 372 11
5. 68-+/98 6. 2M0-3/6
592 1215
6+/48 - 24/27 o5 . 186G |8 (22)
S o t+(2)
q 8
o (V1) p5a 0. (V20) (3,6
1S o515 o5

Part 4: Working with Like and Unlike Terms Simplify fully. Write in decreasing exponential form.

1, (65 +1)+(5x* —4)

x-2

2. (2 +11x+2)— (X —-2x+7)

Xr \34-G"

3. (& -3x+3)—(x* +x-1)

~dx 44

4. (14-16x) + (10x—5)

~brtq

B. (8% —1)—(20%* 4+ 2%* —x~95)

2t

6. 6x—(22x+3-36x" +x°)

-x?"ﬂr %xalbx -3

7. (4x* — 15x+16)+(2x —20)

"\xa—\gﬂ -4

8. (7x* -2+ x* +13x)~(4x* +10)

3;&-)(21-\3;(-[

~




Part 5: Factoring/Solving Factor each expression or equation, if possible. Solve if appropriate. Show work.

1. 3x®+12%° 2. x*+7x=-12
% 4T 41229
(x4 3)(x44]2 0
3%’(7{-\-4) $-3,-4
3. x’-x-6=0 4, x'=25
f3r ’23 (wf's)[?“"?)
5. x'+9 6. 2x>—5x=3
?F—“N‘G ; fb(’-,, §x-3=0
cannot fachr (Gai)lb3)=0
x4 $-3,3%
7. 3x7 —19xy+20y* 8. 25x’— 9y’
(3-19)-5)) (534)(6x-39)
9. 10x*+17xy + 3y’ 10, —4x =10x*-24x°
lox?- 24x% +4x=°
2% (V23-5%- 2)=0
(Boz(sery) | -2 (3x2)(900)=0 0,3, 3}

Part 6: Using Pythagorean Theorem

Express n as a radical in simplest form. Show your work.

1. ) 2. '_‘i“i 3. A
n =% 2 1 2 2 ,6"'
‘J[ ¥ .-:i‘; . na*—l'l:q?- n +(2ﬁ)2J7Q\
4y=n . n: 32 9 7] n:30
8
4
24 . 2158 . 21&
. P, WE |
ﬂl'}"iq ""(/LS- 25 [l’ﬁ-) *M) =N n
W% 516 N na_: 2%2 4[5 T\“\‘?’f:’“ 6
P pred n n=2% 8
a=12
[ e 8. 5
nh (o) 4" 2T
lo+121 =N 1 n
133 =0 ot fls) =80
2 n": 25 9




Graph each of the following equations or inequalities. Use a ruler.
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Part 8: Systems of Equations

Find the solution using either substitytion or elimination. Show your work.

1. x+y=12 2 2. 3x+2y=7 N, -
Xx=y+2 \“'j'}l (—x+3y=8)3 Ir 4 2j,¥
X~y=2 “8x cAye 2%
2% 4 'N\I:ﬂ
2 s 3
%= (1,5) Gy
3. x=3y+1 4, x+y=7
6X=y+6 x—fy=9

bl3gw)=y+e - 2=\
18y4 6=y +e (150) X5 8,1)
5 y= 6. x=
3x+y=5 y=3x-5
ETS ¥ LY 9;]2-5 =F
Bx=5 _
x= (h1) (H)#)
7. 3y=2-x 8. (2x+3y=-1)3
2x =7 -3y 33: I-X (3x+5y=-2)*2 bx+qy= -3
2 3:1 = 142% —bx —loy = ¥
O ="5 % -y =1
5 =X (5‘)...1) Szt ()t 2

#9-10 Find the solution to each system by graphing. Use a ruler.

pE—)

9. y=2x+1
“4rty=7 &:t\m%
2

(-3,%5)

10. 2x=y 3 =71x
x+y=3 P 3
] . 1

Som L1 12

()3'1.)




Part 9: orking with Formulas

istance, Midpoint, Slope) Find the distance between each of

the following pairs of points. Express all answers in simplified radical form. Show your work.

1. B(3,-8)and C(9, -2) 2. X(-5,-3)and Z(4,1)
b (524—(.2- Cf " *|-’+42-,-(.4'
B T2=¢ h = .
b d= ‘:ﬁ q ol d= qq"
3. M(8, 4) and N(-2, 20) 4. E(-4, 6) and F(0, -4)
\0'1+ \bi‘-: (-2- “(’"’r \019—91
e E N\ o= ? “h Ne=c*
\o 56> i 2’{5‘] % i 2‘{—5‘1

#5-8 Find the coordinates of the midpoint between each pair of points. Show your work.

5. A(5, 6) and B(-3, 2) 6. C(3,5)and D(-2, -1)
= -2 -)
518, §i2) (£ =%
2 2
A
7. T(7,-4) and R(-5, -7) 8. S(-1,6)and V(b, -5)
(q_i____g-) 'B_—? (-_u-_S") =) )
2 & -0 z - 4
M= (‘ ) E M= (27 2
#9-12 Find the slope of the line between each pair of points. Show your work.
9. A(2,5)and B(-10, -8) | 10. T(-1, -7) and R(10, 2) |
n= 548 m==-7-2
410 i s a
’ m = 3/"2- i i B /H
11. B(8, 4) and R(-2, 4) 12. M(9, 2) and W(9, -5)
M= i.-_i -
&+l \° undefned
: wz O (1O sbpo)

Part 10: Solving Literal Equations
Show your work.

Solve for x unless otherwise stated.

State|restrictions)if necessary.
denoo~ = O

1. C‘:E['F—SZ]; solvefor F 2, F:G&??; solve for M 3, —1-+a:b; when x =0
9 B X X 1
1 -~
F- 2o M=£—r; T 4#b
"5 G40 wm#o KT iy
4, v—px—c=bk X 6. cx—dx=e
5. ——h=4;whenr=0
x=bKtcy  y-c-bK| 7 x(c-d)=€ - &
. ov yer (i) c#4




Part 11: Word Problems For each of the following, define the variable(s), write an equation, and solve.
Show all work on a separate sheet of paper.

1. You are hanging three pictures on a wall that is 16 feet wide. The widths of the three pictures
are 2, 3, and 4 feet. You want the space between the pictures to be the same, and the spaces to
the left and right of the group to be 6 inches more than the space between the adjacent
pictures. How should you position the pictures?

2. Your long-distance phone charges 8 cents per minute for weekday and daytime calls. It charges
5 cents per minute for night and weekend calls. If you made a total of 220 minutes of long-
distance calls during one billing cycle, and your bill was $13.16, how many minutes of night and
weekend calls did you make?

3. The sum of four consecutive odd integers is 184. Find the four integers.

4. The length of one side of a triangular flower bed is 3 ft less than twice the length of the
shortest side and the length of the third side is 3 ft greater than the length of the shortest
side. If the perimeter is 36 ft, what is the length of the shortest side?

5. Denise drove to her parent's house at a rate of 70 km/h. She came back by the same route, but
drove at a rate of 80 km/h. If the round trip took her 3 hours, what is the distance between her
house and her parent's house?

6. The Chans invested twice as much money at 8% as at 6%. If the total of the simple interest for
one year is $660, what is the amount the Chans invested at 6%?

7. The sum of three integers is 242. The second number is three more than twice the first and the
third number is nine less than five times the first. Find the integers.

8. You have a piece of wood that is 72 inches long. You cut the wood into three pieces. The second
piece is 6 inches longer than the first piece. The third piece is 6 inches longer than the second
piece. Draw a diagram and then write and solve an equation to find the lengths of the three
pieces.

9. A moving company weights 20 boxes you have packed that contain either books or clothes and
says the total weight is 404 pounds. You know that a box of books weighs 40 pounds and a box of
clothes weighs 7 pounds. Write and solve an equation to find how many boxes of books and how
many boxes of clothes you packed.

10. Victor bought $8.40 worth of stamps. He bought 3 times as many $.17 stamps as $.25 stamps
and 4 times as many $.02 stamps as $.25 stamps. Find the number of $.25 stamps he purchased.

11. Two planes leave Hobby Airport at noon. One flew east at a certain speed and the other flew
west at twice that speed. The planes were 2700 miles apart in 3 hours. How fast was each plane
traveling?

12. Assume that a, b, and ¢ are integers and @+ 0. Prove that the solution o the linear equation
av—b=c must be a rational humber.
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lo. X= # 25¢ stamps [ 15 b (=) + 02 x) = 8.\{0] loo
Zg= B 11¢ stumps &y = 840
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